
MPG No. 9.1.29 4 [ Type I, tetragonal ] [Q tensor]

* Rank 0 tensor.[
Q
]

Q = Q(1)
s

* Rank 1 tensor.[
0 0 Qz

]
Qz = Q(1)

pz

* Rank 2 tensor (s).Qxx 0 0
0 Qxx 0
0 0 Qzz



Qxx = −Q
(1)
du +Q(1)

s

Qzz = 2Q
(1)
du +Q(1)

s

* Rank 2 tensor (a). 0 Qxy 0
−Qxy 0 0

0 0 0



Qxy = G(1)
pz

* Rank 3 tensor (s).
0 0 Qxxz

0 0 Qxxz

0 0 Qzzz

Qyzx Qyzy 0
Qyzy −Qyzx 0
0 0 0



Qxxz = −Q
(1)
faz +Q(1)

pz

Qzzz = 2Q
(1)
faz +Q(1)

pz + 2Q(2)
pz

Qyzx = −3G
(1)
du

Qyzy = −Q
(1)
faz +Q(2)

pz

* Rank 3 tensor (a). Qyzx Qyzy 0
−Qyzy Qyzx 0

0 0 Qxyz



Qyzx = −G
(2)
du +G(1)

s

Qyzy = Q(3)
pz

Qxyz = 2G
(2)
du +G(1)

s
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* Rank 4 tensor (sss).
Qxxxx Qxxyy Qxxzz 0 0 Qxxxy

Qxxyy Qxxxx Qxxzz 0 0 −Qxxxy

Qxxzz Qxxzz Qzzzz 0 0 0
0 0 0 Qyzyz 0 0
0 0 0 0 Qyzyz 0

Qxxxy −Qxxxy 0 0 0 Qxyxy



Qxxxx = −2Q
(1)
du − 4Q

(2)
du −Q(1)

gu + 2Q(1)
g +Q(1)

s + 2Q(2)
s

Qxxyy = −2Q
(1)
du + 2Q(1)

gu −Q(1)
g +Q(1)

s

Qxxzz = Q
(1)
du −Q(1)

gu −Q(1)
g +Q(1)

s

Qxxxy = Q(1)
gaz

Qzzzz = 4Q
(1)
du + 8Q

(2)
du + 2Q(1)

gu + 2Q(1)
g +Q(1)

s + 2Q(2)
s

Qyzyz = Q
(2)
du −Q(1)

gu −Q(1)
g +Q(2)

s

Qxyxy = −2Q
(2)
du + 2Q(1)

gu −Q(1)
g +Q(2)

s

* Rank 4 tensor (ssa).
0 0 Qxxzz 0 0 Qxxxy

0 0 Qxxzz 0 0 −Qxxxy

−Qxxzz −Qxxzz 0 0 0 0
0 0 0 0 Qyzzx 0
0 0 0 −Qyzzx 0 0

−Qxxxy Qxxxy 0 0 0 0



Qxxzz = 3Q
(3)
du

Qxxxy = −2G
(1)
faz + 2G(1)

pz

Qyzzx = −4G
(1)
faz −G(1)

pz

* Rank 4 tensor (aas).Qyzyz 0 0
0 Qyzyz 0
0 0 Qxyxy



Qyzyz = −2Q
(4)
du +Q(3)

s

Qxyxy = 4Q
(4)
du +Q(3)

s

* Rank 4 tensor (aaa). 0 Qyzzx 0
−Qyzzx 0 0

0 0 0



Qyzzx = −G(2)
pz

* Rank 4 tensor (sa).
0 0 Qxxxy

0 0 Qxxxy

0 0 Qzzxy

Qyzyz Qyzzx 0
Qyzzx −Qyzyz 0

0 0 0


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Qxxxy = −G
(2)
faz +G(3)

pz

Qzzxy = 2G
(2)
faz +G(3)

pz + 2G(4)
pz

Qyzyz = −3Q
(5)
du

Qyzzx = −G
(2)
faz +G(4)

pz

* Rank 4 tensor (as). 0 0 0 Qyzyz Qyzzx 0
0 0 0 Qyzzx −Qyzyz 0

Qxyxx Qxyxx Qxyzz 0 0 0



Qyzyz = −3Q
(6)
du

Qyzzx = −G
(3)
faz +G(6)

pz

Qxyxx = −G
(3)
faz +G(5)

pz

Qxyzz = 2G
(3)
faz +G(5)

pz + 2G(6)
pz

* Rank 4 tensor (s).
Qxxxx Qxxyy Qxxzz 0 0 Qxxxy 0 0 Qxxyx

Qxxyy Qxxxx Qxxzz 0 0 −Qxxyx 0 0 −Qxxxy

Qzzxx Qzzxx Qzzzz 0 0 Qzzxy 0 0 −Qzzxy

0 0 0 Qyzyz Qyzzx 0 Qyzzy Qyzxz 0
0 0 0 −Qyzxz Qyzzy 0 −Qyzzx Qyzyz 0

Qxyxx −Qxyxx 0 0 0 Qxyxy 0 0 Qxyxy



Qxxxx = −2Q
(1)
du − 4Q

(2)
du −Q(1)

gu + 2Q(1)
g +Q(1)

s + 2Q(2)
s

Qxxyy = −2Q
(1)
du + 2Q(1)

gu −Q(1)
g +Q(1)

s

Qxxzz = Q
(1)
du + 3Q

(3)
du −Q(1)

gu −Q(1)
g +Q(1)

s

Qxxxy = −2G
(1)
faz −G

(2)
faz + 2G(1)

pz +G(3)
pz +Q(1)

gaz

Qxxyx = −2G
(1)
faz +G

(2)
faz + 2G(1)

pz −G(3)
pz +Q(1)

gaz

Qzzxx = Q
(1)
du − 3Q

(3)
du −Q(1)

gu −Q(1)
g +Q(1)

s

Qzzzz = 4Q
(1)
du + 8Q

(2)
du + 2Q(1)

gu + 2Q(1)
g +Q(1)

s + 2Q(2)
s

Qzzxy = 2G
(2)
faz +G(3)

pz + 2G(4)
pz

Qyzyz = Q
(2)
du − 3Q

(5)
du −Q(1)

gu −Q(1)
g +Q(2)

s

Qyzzx = −4G
(1)
faz −G

(2)
faz −G(1)

pz +G(4)
pz

Qyzzy = Q
(2)
du + 3Q

(5)
du −Q(1)

gu −Q(1)
g +Q(2)

s

Qyzxz = −4G
(1)
faz +G

(2)
faz −G(1)

pz −G(4)
pz

Qxyxx = 2G
(1)
faz − 2G(1)

pz +Q(1)
gaz

Qxyxy = −2Q
(2)
du + 2Q(1)

gu −Q(1)
g +Q(2)

s

* Rank 4 tensor (a). 0 0 0 Qyzyz Qyzzx 0 Qyzzy Qyzxz 0
0 0 0 Qyzxz −Qyzzy 0 Qyzzx −Qyzyz 0

Qxyxx Qxyxx Qxyzz 0 0 Qxyxy 0 0 −Qxyxy


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Qyzyz = −2Q
(4)
du − 3Q

(6)
du +Q(3)

s

Qyzzx = −G
(3)
faz −G(2)

pz +G(6)
pz

Qyzzy = 2Q
(4)
du − 3Q

(6)
du −Q(3)

s

Qyzxz = −G
(3)
faz +G(2)

pz +G(6)
pz

Qxyxx = −G
(3)
faz +G(5)

pz

Qxyzz = 2G
(3)
faz +G(5)

pz + 2G(6)
pz

Qxyxy = 4Q
(4)
du +Q(3)

s

* Rank 4 tensor (t).

Qxxxx Qxxxy 0
−Qxxxy Qxxxx 0

0 0 Qzzzz

0 0 Qyyzz

Qzzxx 0 0
Qxxxy Qxxyy 0

0 Qyzzy 0
0 0 Qzxxz

Qxxyy +Qyyzz −Qyzzy −Qzxxz +Qzzxx −Qxxxy 0
0 0 0



Qxxxx = −2Q
(1)
du − 4Q

(2)
du −Q(1)

gu + 2Q(1)
g + 3Q(1)

s

Qxxxy = Q(1)
gaz

Qzzzz = 4Q
(1)
du + 8Q

(2)
du + 2Q(1)

gu + 2Q(1)
g + 3Q(1)

s

Qyyzz = Q
(1)
du + 3Q

(3)
du −Q(1)

gu −Q(1)
g +Q(1)

s

Qzzxx = Q
(1)
du − 3Q

(3)
du −Q(1)

gu −Q(1)
g +Q(1)

s

Qxxyy = −2Q
(1)
du + 2Q(1)

gu −Q(1)
g +Q(1)

s

Qyzzy = Q
(2)
du + 3Q

(5)
du −Q(1)

gu −Q(1)
g +Q(1)

s

Qzxxz = Q
(2)
du − 3Q

(5)
du −Q(1)

gu −Q(1)
g +Q(1)

s
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